

ii) $f(x) = \sqrt{\frac{x-1}{x} - \frac{x}{x-1}} = \sqrt{\frac{(x-1)^2 - x^2}{x(x-1)}} = \sqrt{\frac{(x-1-x)(x-1+x)}{x(x-1)}} = \sqrt{\frac{-1(x-1)}{x(x-1)}}$

$\frac{0}{+} - \frac{1}{+} = -$

10,50

$D_{f(x)} = (-\infty, 0) \cup [\frac{1}{2}, 1)$

1,8

iii) $f(x) = \frac{\frac{1}{x+1} - \frac{1}{x}}{\frac{x}{x-1} + \frac{1}{x+1}} = \frac{\frac{x-x-1}{x(x+1)}}{\frac{x^2+x-1}{x(x+1)}} = \frac{x-1}{x^2+x-1}$

$D_{f(x)} = \mathbb{R} - \{0, -1, -\frac{1}{2}\}$ $x-1 \neq 0 \rightarrow x \neq 1$
 $x+1 \neq 0 \rightarrow x \neq -1$
 $x^2+x-1 \neq 0 \rightarrow x \neq -\frac{1}{2}$

ii) $f(x) = \sqrt{\left(\left(\frac{x}{e}\right)^x - 9\right)(e^x - x^e)} \geq 0$

$(\frac{x^x}{e^x} - 9)(e^x - x^e) \geq 0$

$\frac{-9}{-} \frac{e^x}{+} = +$

$-x = e \rightarrow x = -e$ $x = 0 \rightarrow x = 0$ $D_f = (-\infty, -e] \cup [0, +\infty)$

$D_{f(x)} = [-e, e]$

$x-1 \geq 0 \rightarrow x \geq 1$
 $\frac{1}{x-1} \geq 0 \rightarrow x \leq 1$ $D_f = [1, 1]$

iii) $\sqrt{x-1} + \sqrt{y+1} \leq 0$ $\sqrt{x-1} - \sqrt{y+1} = (-\sqrt{y+1}) \rightarrow (\sqrt{x-1})^2 = (\sqrt{y+1})^2$
 $x-1 \geq 0 \rightarrow x \geq 1$ $-y \sqrt{x-1} = y+1$
 $y = -\sqrt{x-1} - 1$
 $x \geq 1$

$D_{f(x)} = [1, +\infty)$

$f(x) = \frac{\log_e(x^e - x - 1)}{\sqrt{x^e - 1}}$ $x^e - x - 1 > 0 \rightarrow (x-1)(x+1) > 0$

$x^e - 1 > 0$ $\frac{1}{+} - \frac{1}{+} = -$

$1 \leq x^e \rightarrow x \leq -1 \cup 1 \leq x$

$D_{f(x)} = (-\infty, -1) \cup (1, +\infty)$

Ans Tried also

$$f(m) = f\left(\frac{1}{m}\right) = \frac{m^2 - 1}{m} \rightarrow \infty$$

$$f = a \neq b \rightarrow f(-1) = f(-1) = f(1) = \frac{(-1)^2 + 1}{-1} = -2$$

$$f(-1) = -2 \rightarrow f(-1) = -2$$

$$n = 0 \rightarrow f(1) = f(1) = m - 1 \rightarrow f(1) = \frac{m - 1}{1}$$

$$m = -2 \rightarrow f(1) = f(-2) + 4f(1) = 12 + 2m + m - 1 \quad f(1) = \frac{12 + 2m}{1}$$

$$f(1) = f(-2) - f(1) = f(1) + 4f(1) = 12 + 2m$$

$$f(1) (f(-2) - f(1)) = f(1) (12 + 2m - 4f(1)) = 12 + 2m$$

$$f(1) (12 + 2m - 4) = 12 + 2m \rightarrow f(1) = \frac{12 + 2m}{14 + 2m}$$

$$12 = 12 + 2m - 4m - 1$$

$$-1 = 12 + 2m - 4m - 1 \quad \left. \begin{array}{l} 12 = 12 + 2m - 4m - 1 \\ -1 = 12 + 2m - 4m - 1 \end{array} \right\} -2m = 14$$

$$m = \frac{1}{2} \quad f(1) = \frac{10}{2}$$

فصل ۱

$$f(n) = \sqrt{c \cdot a n - n^2} \quad [0, \infty)$$

$$\frac{f(n)}{n} = \frac{c}{n} = -r b \rightarrow b = \frac{c}{n} \leq 0$$

$$a + b = 1$$

$$\frac{1}{a} = -\frac{1}{b} = -\frac{a}{c} = \frac{1}{c} \rightarrow a = \frac{1}{c}$$

$$c \cdot a n - n^2 \geq 0 \rightarrow n \leq c \rightarrow -r a - 1 \geq 0 \rightarrow a \leq \frac{1}{r}$$

$$\hookrightarrow n = \frac{c}{a} \rightarrow r + \frac{1}{a} - \frac{1}{2} \geq 0 \rightarrow \frac{1}{a} \geq -\frac{r}{2} \rightarrow a \geq -\frac{1}{r}$$

$$f(n) = c \cdot a n - n^2 = r n - r^2 n^2 \quad n \geq 1 \quad [0, \infty)$$

$$r n - r^2 n^2 = n(r - r^2 n) \quad n(1) \quad [0, \infty)$$

$$n + c = 0 \rightarrow n = -c$$

$$f(n) = n \geq 0 \rightarrow D_{f(n)} = [0, \infty)$$

$$f(n) = \begin{cases} (a+r)(n+r) & n \geq 1 \\ c a n & n \leq 1 \end{cases}$$

$$r f(n) = r c - r^2, \quad c a$$

$$f(n) = (a+r)(n) = r a + r \rightarrow r f(n) = r c + r$$

$$f(n) = c a - r$$

$$\begin{cases} 12a + 12 = c a - r + a \\ 10a = -12 \\ a = -1.2 \end{cases}$$

$$r = c + c = r c + r + f(n) = r f(n) + \frac{1}{r} + c - r$$

$$f(n) = c \quad (r - \sqrt{n})(r + \sqrt{n}) = 1 \quad \left(\frac{r}{\sqrt{n}} = 1 \right) \quad r = \sqrt{n}$$

$$r \sqrt{n} = r + \sqrt{n}$$

$$r f(n) = c f(n) = c n - n^2 \rightarrow f(n) = c n - n^2 \rightarrow r f(n) = c n - n^2$$

$$r f(n) = c f(n) = c n - n^2 \rightarrow r f(n) = c n - n^2 \rightarrow r f(n) = c n - n^2$$

$$f(n) = c n - \frac{n}{2}$$

$$-2 f(n) = c n + n$$